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24 Electric field produced by two point charges

Two charged particles are held fixed as illustrated; the grid
units are each 0.010m. The aim of this exercise will be to
determine the field at point P.
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a) Indicate the directions of the electric fields produced by ! -
each source charge at point P. ’U, -
b) Determine the magnitude of the electric field produced | 2 -5°’>
by each source charge at point P. ‘P -

¢) Using vector components add the two electric fields.
Express-the total-electric-field-interms-of standard-unit-
vegtors, Skl o Vahs + oo its equhede
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